
Mathematics X

1.hcbpsS Ncnhpw kahmIyhpw

1. A(1,−3), B(3, 3)Fóo _nµp¡fnðIqSn hc¡pó hcbpsS Ncnhv IW-

¡m¡pI.Cu hcbpsS kahmIyw x

2
− y

6
= 1BsWóv sXfnbn¡pI. Cu

hc x A£s‾bpw y A£s‾bpw JÞn¡pó _nµp¡fpsS kqNI-

kwJyIÄ FgpXpI.

Calculate the slope of the line passing through A(1,−3), B(3, 3).

Show that the equation of this line is x

2
− y

6
= 1. Also find the

coordinates of the points where the line cut x and y axes.

Answer

Ncnhv = y2−y1

x2−x1

= 3−−

3

3−1
= 3

Cu hcbnse Hcp _nµphmWv (x, y) Fóv IcpXpI.y−
−

3

x−1
= 3 ⇒

−3x+ y = −6
Ccphihpw −6 sImïv lcn¨mð −3x

−6
+ y

−6
= 1 ⇒ x

2
− y

6
= 1

2. x− 2y + 8 = 0, 2x+ y + 1 = 0 Fóo hcIÄ JÞn¡pó _nµphnsâ

kqNIkwJyIÄ FgpXpI.Cu hcIÄ y A£s‾ JÞn¡pó _nµp¡-

fpsS kqNIkwJyIÄ FgpXpI. Cu cïv _nµp¡fnð GsX¦nepw cïv

_nµp¡Ä X½nepÅ AIew IW¡m¡pI.

Find the coordinates of the point of intersection of the lines x −

2y+8 = 0, 2x+y+1 = 0 .Find the coordinates of the point where
the lines cut y axis . Calculate the distance between any two of

these points .

Answer

x− 2y = −8 −→ (1)
2x+ y = −1 −→ (2)
kahmIyw (1) s\ 2 sImïv KpWn¨mð 2x− 4y = −16 Fóv In«pw

2x + y = −1, 2x − 4y = −16 Fóo kahmIy§Ä ]cnKWn¨mð

5y = 15, y = 3 Fóv In«pw .y = 3 Bbmð x = −2 Fóv In«pw .

JÞn¡pó _nµp(−2, 3) .
hc y A£s‾ JÞn¡pt¼mÄ x kqNIkwJy ]qPyambncn¡pw .x −

2y = −8 Fó kahmIyw ]cnKWn¨mð 0−2y = −8, y = −8

−2
= 4 Fóv

In«pw ._nµp(0, 4) BWv .2x + y = −1 Fó kahmIyw ]cnKWn¨mð

0 + y = −1, y = −1 Fóv In«pw ._nµp(0,−1) BWv .

(0, 4), (0,−1)Fóo yA£‾nse hcIÄ X½nepÅAIew | 4−−1 |=
5.



3. 3x+2y−6 = 0, 2x−3y−1 = 0 Fónh cïv hcIfpsS kahmIy§fm-
Wv .A(4,−2), B(5, 3) Fóo _nµp¡Ä apIfnð Xóncn¡pó hcIfnð

GsXms¡ _nµpIfnemWv ? Cu hcIfnse Hcp _nµphmWv C F¦nð C

bpsS kqNIkwJyIÄ FgpXpI.hcIÄ ]ckv]cw ew_amb hcIfmtWm

Fóv ]cntim[n¡pI

3x+2y−8 = 0, 2x−3y−1 = 0are two straight lines. Check which
number among A(4,−2), B(5, 3) on the first line and which on the

second line.Find the point of intersection of these lines. Are they
perpendicular to eachother?

Process

3× 4 + 2× (−2)− 8 = 12− 4− 8 = 0, (4,−2)Fó _nµp x A£-

‾nse _nµphmWv .

2 × 5 − 3 × 3 − 1 = 10 − 9 − 1 = 0BbXn\mð (5, 3) cïmas‾

hcbnse _nµphmWv .

kahmIytPmSnIÄ Hón¨v ]cnKWn¨v ]cnlmcw ImWpI. At¸mÄ Iq«n-

ap«pó _nµphnsâ kqNIkwJyIÄ In«pw.Ip«nap«pó _nµphnsâ kqN-

IkwJyIfpw (4,−2) Dw D]tbmKn¨v BZyhcbpsS Ncnhv ImWpI.CXp-

t]mse cïmas‾ hcbpsSbpw Ncnhv ImWpI. NcnhpIÄ X½nð KpWn-

¡pt¼mÄ −1 In«ptamsbóv t\m¡pI. In«nbmð hcIÄ ew_§fmWv

.

4. 2x− 3y + 7 = 0 Fó hcbpw 3x + 2y − 9 = 0 Fó hcbpw P bnð

Iq«nap«póp.P bpsS kqNIkwJyIÄ FgpXpI.P bneqsS ISópt]mIp-

óXpw Ncnhv 1

2
Dw Bb hcbpsS kahmIyw FgpXpI

The lines 2x−3y+7 = 0 and 3x+2y−9 = 0 meet at P .Find the
coordinates of P .Write the equation of the line passing through

P and having slope 1

2

5. x = −y Fó hcbpw x = y Fó hcbpw y = 7 Fó hcbpw cq-

]oIcn¡pó {XntImW‾nsâ ioÀj§fpsS kqNIkwJyIÄ FgpXpI.

{XntImW‾nsâ Npäfhpw ]c¸fhpw IW¡m¡pI

Three lines x = −y, x = yandy = 7 makes a triangle.Write the

coordinates of the vertices of the triangle, area and perimeter

Process

x = −y Fó hc hc¡póXn\v (1,−1), (−1, 1) · · · Fón§s\bp-
Å _nµp¡Ä tbmPn¸n¨mð aXn. GItZiNn{Xw hc¨mð 2, 3 Fóo

NXpÀ°mwi§fneqsS Cu hc ISópt]mIpóXmbn ImWmw.CXpt]mse

(1, 1)(−1,−1) Fón§s\bpÅ _nµp¡sf tNÀ‾v hc hc¡pI. Cu

hc 1, 3 Fóo NXpÀ°mwi§fneqsS ISópt]mIpw . C\n y = 7



Fó hcbmWv . AXv xA£‾n\v kam´cambn (0, 5) eqsS ISóp-
t]mIpóp. GItZiNn{Xw hc¨mð {XntImWw ImWmw . ioÀj§fpsS

kqNIkwJyIÄ FgpXpatñm

6. (−4,−3), (4, 9) Fóo _nµp¡Ä tbmPn¸n¡pó hcbpsS Ncnhv Im-

WpI. Cu hcbpsS kahmIyw F´v ?Cu hc A£§sf JÞn¡pó

_nµp¡Ä GsXñmw ?

Find the slope of the line passing through (−4,−3), (4, 9) . Write

the equation of this line.Also find the points where the line cut
coordinate axes.

Process

Ncnhv ImWpI. hcbnð (x, y)Fó asämcp _nµpIqSn ]cnKWn¨v Ncnhp-

ambn Xpe\w sNbvXv BZy tNmZy‾nð sNbvXncn¡pót]mse kahmIyw

FgpXpI. BZy tNmZy‾nsâ D‾cw CXn\v kam\amWv .

7. Find the equation of the line passing through (1,−1) with slope

2. What is the slope of the line perpendicular to this line? Write
the equation of such a line passing through (−1.− 1)
(1,−1) Fó _nµphneqsS ISópt]mIpó Ncnhv 2 Bb hcbpsS k-

ahmIyw FgpXpI. Cu hcbv¡v ew_amb hcbpsS Ncnhpw kahmIyhpw

FgpXpI.ew_amb hc (−1,−1) Fó _nµphneqsS ISópt]mbmð

AXnsâ kahmIyw Isï‾pI

8. Show that the lines 2x+3y− 5 = 0 and 2x+3y+5 =are parallel
lines

2x + 3y − 5 = 0,2x + 3y + 5 = Fóo hcIÄ kam´chcIfmsWóv

sXfnbn¡pI

9. Without calculating distances show that the points (6, 2), (3,−1), (−2, 4)

are the vertices of a right angled triangle.
hi§fpsS \ofw IW¡m¡msX (6, 2), (3,−1), (−2, 4)Cu _nµp¡Ä

Hcp a«{XntImW‾nsâ ioÀj§fmsWóv sXfnbn¡pI

10. If the points (x,−1), (2, 1), (4, 5) are on a line , find the value of
x. Write the equation of the line passing through these points .

Determine the points where this line cut coordinate axes.
(x,−1), (2, 1), (4, 5) Cu _nµp¡Ä Hcp hcbnse _nµp¡fmbmð x I-

W¡m¡pI.Cu _nµp¡fneqsS ISópt]mIpó hcbpsS kahmIyw Fgp-

XpI .Cu hc kqNIm£§sf JÞn¡pó _nµp¡Ä IW¡m¡pI

11. The vertices of a triangle ABC are A(−2, 3), B(2,−3), C(4, 5).

Find the slope of BC . Find the equation of the altitude of the



triangle passing through A

A(−2, 3), B(2,−3), C(4, 5)FóXv Hcp {XntImW‾nsâ ioÀj§fmWv

. BC bpsS Ncnhv IW¡m¡pI.A bneqsS ISópt]mIpópt]mIpó {Xn-

tImW‾nsâ DóXnbpsS kahmIyw FgpXpI

12. A line cut the x axis and y axis at equal distance from the ori-

gin.This line passes through (2, 3) also. Find the equation of this
line.

Hcp hc x A£s‾bpw y A£s‾bpw B[mc_nµphnð\nópw Htc

AIe‾nð JÞn¡póp. Cu hc (2, 3) Fó _nµphneqsS ISópt]m-

bmð kahmIyw FgpXpI

13. By using the concept of equation of line prove that the points
(3, 0), (−2,−2), (8, 2) are on the same line
hcbpsS kahmIyw FóBibw D]tbmKn¨v (3, 0), (−2,−2), (8, 2)Fóo

_nµp¡Ä Hcp hcbnð XsóbpÅ _nµp¡fmsWóv sXfnbn¡pI

14. A line makes an angle 45◦ with the positive direction of x axis.

What is its slope? If it passes through (2, 3) write its equa-
tion.Check whether line passes through (−1,−1)
Hcp hc x A£hpambn 45◦ tIm¬ cq]oIcn¡póp.Cu hcbpsS Ncn-

hv IW¡m¡pI.Cu hc (2, 3)eqsS ISópt]mbmð hcbpsS kahmIyw

FgpXpI. Cu hc (−1,−1) eqsS ISópt]mIptamsbóv ]cntim[n¡pI


